128 ?

128,
LTE-8x 3.14.2.927. LTE-2x 3.14.2.183.
Rules.
PON-:

d LTE-2X# profile rules 1
. LTE-2X(profile-rules)# rule show pon

0) 14: if (LinkIndex == 0x0) then path = port 0 queue 0; forward
1) 14: if (LinkIndex == 0x1) then path = port 0 queue 1; forward
2) 14: if (LinkIndex == 0x2) then path = port 1 queue 0; forward
3) 14: if (Linkindex == 0x3) then path = port 1 queue 1; forward

. LTE-2X(profile-rules)# rule delete pon 1
. LTE-2X(profile-rules)# rule delete pon 2

NTE-2 PON-
0) 14: if (LinkIndex == 0x0) then path = port 0 queue 0; forward

1) 14: if (LinkIndex == 0x1) then path = port 1 queue O; forward

UNI1-:
. LTE-2X(profile-rules)# rule show unil

0) 14: if (Always) then path = link 2 queue 0; forward

° LTE-2X(profile-rules)# rule delete unil 0
d LTE-2X(profile-rules)# rule add unil 14: if (Always) then path = link 1 queue O; forward
. LTE-2X(profile-rules)# rule show unil

0) 14: if (Always) then path = link 1 queue 0; forward

NTE-RG.revB PON-

® LTE-2X(profile-rules)# rule show pon

0) 14: if (LinkIndex == 0x0) then path = port 0 queue 0; forward
1) 14: if (LinkIndex == 0x1) then path = port 0 queue 1; forward

NTE-RG1421G-Wac PON-

0) 14: if (LinkIndex == 0x1) then path = port O queue 2; forward
1) 14: if (LinkiIndex == 0x0) then path = port 0 queue 1; forward



Ports, Linksperonu - 2.

4 LTE-2X# profile ports 1
. LTE-2X(profile-ports3)# set links 2

Links per ONU: |2 ¥
Description: 2link

Uni
Port Enabled Autonegotiation Speed Duplex
Uni0 i d 1G (1000 Mbps) ¥ full v
Uni 1 rd rd 100 Mbps ¥ full ¥

Bridging mode

Port Uni 0 Unil
Automatic Learning Entry Limit 64 64
Learned entry age limit 60 60

| Auto downstream broadcast frame forwarding

I Apply Il Cancel

Path.

LTE-2X# profile path 1

LTE-2X(profile-path1)# show information

Index: 1

Description:

Link0 assigned to PATH ID =0

Link1 assigned to PATH ID =0

Link2 assigned to PATHID =1

Link3 assigned to PATHID =1
LTE-2X(profile-path1)# set link0O pathid O
LTE-2X(profile-path1)# set link1 pathid 1
LTE-2X(profile-path1)# set link2 pathid unassigned
LTE-2X(profile-path1)# set link3 pathid unassigned
LTE-2X(profile-path1)# show information

Index: 1

Description:

LinkO assigned to PATH ID =0

Link1 assigned to PATHID = 1

Link2 assigned to PATH ID = unassigned

Link3 assigned to PATH ID = unassigned
LTE-2X(profile-path1)# rule delete pathO 0
LTE-2X(profile-path1)# rule delete pathl 0
LTE-2X(profile-path1)# rule add pathO 10: if (Always) then (ClearDiscard) and (SetQueue 0) and (SetUnicastLink 0)
LTE-2X(profile-path1)# rule add pathl 10: if (Always) then (ClearDiscard) and (SetQueue 0) and (SetUnicastLink 1)

Add Il Clear

Input rule directly: Add

PATHO PATH1 Unassigned

Link 0 .

Link 1 .

Link 2 .

Link 3 .

. PATHO

PATH 1

| Description || Apply | Cancel |




ONT



	Как сделать чтобы на одно канале смогли работать 128 абонентов?

